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KEY 6.1A  Algebraic Properties
Write an equivalent expression using the property stated.
	1. Identity Property of Addition:    c  + 0 = ____c_______

	2. Identity Property of Multiplication:  22b ∙ 1 = _____22b_____________

	3. Multiplicative Property of Zero:  40,286 ∙ 0 =  _____0____________

	4. Commutative Property of Addition:  x + z = ______z + x___________

	5. Commutative Property of Multiplication:  k ∙ 6 = _____6 ∙ k____________

	6. Associative Property of Addition:  (1 + 3) + 9 = ___1 + (3 + 9)_____________

	7. Associative Property of Multiplication:  (w  ∙ h) ∙ l = __w ∙ (h ∙ l)____________

8. Symmetric Property: x > 3=__3 ˂ x________

9. Exponential Property of Equality: 33=3x therefore___3 = x_________
10. Multiplication Property of Equality: if x = 4, then 2 ∙ x = __2 ∙ x________________
11. Addition Property of Equality: if x = 4, then x + 3 = ___4 + 3_____________
12. Additive Identity: a + (-a) =____0_______________

13. Multiplicative Inverse: 4/5∙5/4=___1__________________

14. A football team is on the 35-yard time.  The quarterback is sacked at the line of scrimmage. The team gains 0 yards.  Which identity or property does this represent? Explain
35 + 0 = 35   Additive Inverse
15. Write two equations demonstrating two properties of your choosing.

a.  
b. 

16.  Does that Commutative Property sometimes, always, or never hold for subtraction? Explain your reasoning.    Never, for example 30 – 3 = 27 but 3 – 30 = -27
17. Identify the sentence that does not belong with the other three.  Explain your reasoning.

The last box doesn’t belong.  The order is staying the same, it’s just re-associating.
18. Write a real-life example in which the Distributive Property would be useful.   Write an expression that demonstrates this example.  Three envelopes can be mailed using three $.24 stamps and three $.17 stamps, one of each on each envelope.  What would you need if you just used one stamp on each envelope instead of two?   3(24 + 17) = 3(41)   You would need $.41
19. Nate lives 32 miles away from the mall.  The distance from his house to the mall is the same as the distance from the mall to his house.  Which property to this represent?  Explain
Commutative Prop of Addition



Name the property demonstrated by each statement.
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	Associative Prop
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	Multiplicative Prop of Zero
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	Multiplicative Identity
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	Commutative Prop

	20.
	
[image: image6.wmf]a

a

)

6

3

(

)

6

(

3

×

=


	Associative Prop
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	Additive Identity
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	Commutative Prop

	23.
	If 
[image: image9.wmf]x

2

2

4

=

then 4 = x
	Exponential Equality

	24.
	
[image: image10.wmf])

3

(

)

3

(

y

x

y

x

+

+

=

+

+


	Associative Prop
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	Multiplicative Identity
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	Associative Prop
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	Additive Identity
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	Multiplicative Prop of Zero
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	Multiplicative Identity
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	Associative Prop

	33.
	4 < x = x > 4
	Symmetric Prop

	34.
	3/4 ∙ 4/3 =1
	Multiplicative Inverse

	35.
	-14+14=0
	Additive Inverse

	36.
	If 10=10 then 10+13 = 10+13
	Addition Property of Equality

	37.
	If x=5, then 3x = 15
	Multiplication Property of Equality

	38.
	If x=12 then x-7 = 12-7
	Subtraction Property of Equality

	39.
	If 30=30 then 30/5 = 30/5
	Division Property of Equality

	40.
	If x=6 then 6=x
	Symmetric Prop


(2j)k=2(jk)





1+a=a+1





7h=h∙7





x+12=12+x
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